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�_n Î+o½öúÎ9Î ÒEÔ öpo § óUÎ>q ü4r¥Ò Ð ¨ts Î Ó Î ßÁ�Cn�§�r óUÎ Ó Ó�Ò:n�§�Ý Îyó §PÔ#Ò Î ©�× öúÎ §PÜ Ð ¨HÜ Î9öúÎ ÒEÜ öúÎ=ó9Î ¨3ÜÞÓ"u
v Ú� �Õ=ý�w �H�_n Ð Ò Ð Ò+©�Ô Î ÜÞü Î�x Ü öÞÎ=Ï�Î Ó"u öúÐ
ó n ô §»ÜÞÜ Î=ö ¨ o ü öúÏ §»Ü Ð üH¨ ô n Î ¨�ü Ï�Î ¨�§ Î�x�Ð ÒEÜ Ð ¨�× Ð ¨
Ü9n Î Ò Î Ò9u�ÒEÜ Î=Ï Ò9�P��Ô ó n ô n Î ¨�ü Ï�Î ¨�§"ü õ Üú§ Ð ¨y¨ Î r o½Î §PÜÞÔ öúÎ Ò Ðyo ü	¨ Î ü o Ü9n Î Ó Ð{z Ô Ð ©�Ò Ð ¨BÜ n Î
s Î Ó Î ßÁ�Cn�§�r ó9Î Ó
Ó Ð Ò Ï §P×H¨ Î Ü Ð
ó �#��¨ Î § ö Ó"u Î9Ð ×�n3Ü Ð
Î Ò Ð Ü(r¦§	Ò o ü	Ô�¨�©�Ü n�§»ÜÖÒ Î Ó o ß Ï §P×H¨ Î Ü Ð
ó
| Î Ó�© o ü öúó9Î Ò ó §	Ô�Ò Î Ü9n Î:o ü öÞÏ §»Ü Ð üH¨'ü o Ü9n Î�Ð ¨HÜ öÞÐ�ó §PÜ Î Ó
§ õ u öúÐ ¨HÜ n Ð ¨ Î"ô §PÜEÜ Î9ö ¨�Ò Ð ¨ÈÜ9n�ü3Ò Î
Òpu�ÒEÜ Î9Ï Ò v }  �~=w �L¢ x Ü Î ¨�Ò Ð ü	¨Bü o Ü9n�üHÒ Îíô n Î ¨�ü ÏÇÎ ¨�§ o ü ö Ü9n Î¦ó §HÒ Î ü o#ó ü	¨3Ü Ð ¨�Ô�ü	Ô�Ò Î ¨ Î9ö ×�u
ÒEÔ ô�ô Óyu\r¦§	Ò ó § öúöÞÐ
Î © üHÔ�Ü Ð ¨ v Ù� �ÕHÕP �ÕLÚ� ÖÕ�Ù=w  Er�n Î9öúÎ Ü n ÎlÐ ¨ q Ô Î ¨ ó9Î ü o Ü9n Î Ò Î Ó o ß
Ï §	×	¨ Î Ü Ð�ó�o ü öúó9Î Ò«ü	¨ Ü n Î © Î Ý Î Ó ü ô�Ï�Î ¨3Ü«ü o Ü9n Î ��§
� Ï §	¨�ß � §�u�Ó ü ö'Ð ¨�ÒÁÜ6§ õ�Ð Ó Ð Ü�u\r¦§	Ò
ó ü	¨#Ò Ð © Î9öúÎ © õ üPÜ niÜ9n Î ü öúÎ Ü Ð
ó §PÓ
Óyu v Ù� �Õ	Õ;w5§	¨�© Î;x�ô�Î9öúÐ Ï�Î ¨3Ü6§PÓ
Óyu v Õ�Ú� #Õ�Ù=w o ü ö%ô Ó�§P¨ Î §P¨�©
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óUÐ
öúó Ô�Ó
§ ö × Î ü Ï�Î Ü öúÐ
Î Ò v Ù� +ý4w �
¢%ÒúÒ Î ¨HÜ Ð §	Ó o½Î §PÜÞÔ öúÎ ü o Ü9n Î Ò Î.ô n Î ¨�ü Ï�Î ¨�§ ó ü	¨#Ò Ð ÒÁÜ6Ò Ð ¨
Ü9n ÎKo ü öÞÏ §PÜ Ð ü	¨�ü o Ü9n ÎiÏ §	×	¨ Î Ü Ð�ó Ó Ð{z Ô Ð © | ¨�× Î=ö   r�n Ð�ó n ©<u�¨�§ ÏÇÐ�ó ÒÖ§	¨�© ô�ö ü ô�Î9ö Ü Ð
Î Ò
Î;x�óUÎ=ô Ü ÒÞü Ï�Î_z Ô�§PÓ Ð Ü6§»Ü Ð Ý Î ¨�Ô Ï�Î9öúÐ
ó §PÓ Î;x�ô�Î9öúÐ Ï�Î ¨3Ü6Ò v ~�w öúÎ9Ï § Ð ¨�Ò ô ü�ü ö Ó"u�Ô�¨�© Î=ö ÒEÜÞü�ü�©��
�_n Ð Ò Ð Ò�¨�ü	ÜÖÜ9n Î'ó §	Ò Î ü o Ü n Î ¨�üH¨�ß Ï §	×	¨ Î Ü Ð�ó Ó Ð{z Ô Ð © | ¨�× Î9ö Ò9  r�n Ð
ó nlÒÁÜ6§ ö Ü Ð ¨�× o½ö ü Ï
ô�Ð üH¨ Î9Î=öÞÐ ¨�× r�ü ö Í õ u���§4� Ï §	¨�§P¨#©�� §�u3Ó
ü ö r Î=öÞÎBÎ;x Ü Î ¨�Ò Ð Ý Î Óyu Ð ¨�Ý Î ÒEÜ Ð ×H§PÜ Î © v ÕH  ÕLø� 
Õ=÷� 1Õ=Û� �Õ }  1Õ�~�w �

ª öúÎ Ó�§»Ü Î © ô�ö ü õ Ó Î=Ï ü o Ü n ÎMo½öÞÎ=ÎyÐ ¨3Ü Î=öpo § óUÎ ©<u�¨�§ Ï�Ð�ó Ò�© Î Ò óUöúÐ
õ#Î Ò¥Ü n Î ©<u�¨�§ Ï�Ð�ó Ò
ü o Ü n Î�õ Ô õ�õ Ó Î�öúÐ Ò Ð ¨�× Ð ¨ÈÜ n Î Ý Î=ö Ü Ð
ó §PÓ s Î Ó Î ß��Cn#§�r óUÎ Ó
Ó�Ô�¨�© Î9ö § ó Ü Ð ü	¨«ü o Ü n Î × ö §�Ý Ð Ü�u
v Õ���w²�3��§4� Ï §P¨i§P¨�©Ç� §�u3Ó
ü ö n�§�Ý Î)o üHÔ�¨�©yÜ9n#§»Ü o ü ö Ü n Ð Ò ó §HÒ Î Ü9n Î_o § Ï�Ð Ó"uBü o Ü n Î ÒÁÜ Î §H©<u
õ Ô õ�õ Ó Î Ò9n�§ ô�Î Ò Î;x�Ð ÒÁÜ6Ò Ð ¨ Ü9n Î § õ Ò Î ¨ ó9Î ü o Ü n Î ÒEÔ ö9o § ó9Î Ü Î ¨�Ò Ð ü	¨ v Õ���w²��� Ü Ð Ò�¨�§PÜÞÔ ö §PÓ
ÜÞü §HÒÞÒÞÔ Ï�Î Ü n�§»Ü Ð ¨ËÜ9n Î ô�öúÎ Ò Î ¨ ó9Î ü o ÒEÔ ö9o § ó9Î Ü Î ¨�Ò Ð üH¨ËÜ9n Î ó9Ð ö6ó Ô�Ó�§ ö Òpn#§ ô�Î ü o Ü n Î
öÞÐ Ò Ð ¨�× õ Ô õ�õ Ó Î�Ð Ò�Ò Î Ó Î=ó Ü Î ©�Ü n�ü	Ô�×'n Ð ÜúÒÖÒEÜú§ õ�Ð Ó Ð Ü�u öÞÎ=Ï § Ð ¨ ô ü�ü ö Ó"u.Ô�¨�© Î=ö ÒEÜÞü�ü�©��1�_n Î
ô�öÞÎ Ó Ð
Ï�Ð ¨#§ ö u�¨�Ô Ï�Î9öúÐ�ó §PÓ Î;x�ô�Î9öúÐ Ï�Î ¨3Ü6Ò v Û
w(n�§�Ý Î Ò9n�ü4r£¨ Ü n�§»Ü Ð ¨ Ü n Î ó §	Ò Î ü o Ü n Î
õ Ô õ�õ Ó ÎiöúÐ Ò Ð ¨�× Ð ¨�Ü9n Î s Î Ó Î ß��<n�§�r ó9Î Ó
Ó | Ó Ó Î © r Ð Ü9n Ï §P×H¨ Î Ü Ð
ó Ó Ð{z Ô Ð ©� �Ü9n Î © Ð � Î9öúÎ ¨3Ü
o § Ï�Ð Ó Ð
Î Òíü o1öúÐ Ò Ð ¨�× õ Ô õ�õ Ó Î Ø ô#Î § ö Ó Ð Í Î ü ö%õ�Î ¨3Ü¦©�Ô ÏBõ ß õ�Î Ó
Ó Ï §�u�§ öúÐ Ò Î �3�_n Î ÒEÜú§ õ�Ð Ó Ð Ü�u
ü o Ü n Î"öúÐ Ò Ð ¨�× õ Ô õ�õ Ó Î�Ð ¨'Ü n Î�ô�öÞÎ Ò Î ¨ óUÎ ü o1Ï §P×H¨ Î Ü Ð
óIo ü ö6óUÎ Ò Ð Ò%¨�ü	Ü Ð ¨�Ý Î ÒÁÜ Ð ×3§»Ü Î © u Î Ü=�

��¨'Ü9n Î�ô�öÞÎ Ò Î ¨HÜ ô § ô#Î=ö r Î | ¨�©«¨�Ô Ï�Î9öúÐ
ó §PÓ
ÓyuÇÜ9n Î�Î=Ð × Î ¨�Ý»§PÓ
Ô Î Ò¦§	¨�© Î=Ð × Î ¨�Ý ÎLó ÜÞü ö Ò
ü o Ü9n Î Ó Ð ¨ Î § ö ü ô�Î9ö §»Üúü ö  �r�n Ð�ó nÈ© Î Ü Î9öúÏ�Ð ¨ Î Ò%Ü9n Î�Î Ý	üHÓ Ô�Ü Ð ü	¨'ü o Ò Ï §PÓ
Ó ô#Î=ö ÜúÔ öÞõ §»Ü Ð ü	¨#Ò9�
¬fu�Ô�Ò Ð ¨�×�Ü n Î��"Î × Î ¨ Î9ö §»Ü Î�� §»Ü öúÐ�óUÎ Ò�� ������Ï�Î Ü9n�ü�© r Î n�§�Ý Î.ó üH¨�ÒEÜ ö Ô ó Ü Î © Ü�ríü
§PÓ
×	ü öúÐ Ü9n Ï Ò= 1Ü9n#§»Üi§ öúÎ'õ §	Ò Î © ü	¨ËÜ n Î Ô�¨�ÒÞ§PÜÞÔ ö §»Ü Î © § ô�ô�ö ü x�Ð Ï §»Ü Ð üH¨lÜ ÎLó n�¨ Ð{z Ô ÎÈõ u
�~§P× ö §	¨�× Î¦Ð ¨3Ü Î9öúô ü	Ó�§»Ü Ð ü	¨#Ò v ý� ��4w²���_n Î¥ô�ö ü õ Ó Î=Ï o ü öÞÏ Ô�Ó
§PÜ Ð ü	¨'§	¨�©i© Î9öúÐ Ý�§PÜ Ð ü	¨iü o Ü n Î
ü ô�Î9ö §»ÜÞü ö Ò Ð ¨'§P¨ Î�x�ô Ó Ð�óUÐ Ü o ü öÞÏ § öúÎ × Ð Ý Î ¨ Ð ¨È� ÎLó Ü Ð ü	¨ÈÚ��Hû"Ô Ï�Î9öúÐ
ó §PÓ#§ ô�ô�ö ü x�Ð Ï §»Ü Ð üH¨
Ü Î=ó n�¨ Ð"z Ô Î"Ð Òí© Î Ò óUöúÐ õ�Î © Ð ¨«� ÎLó Ü Ð üH¨'÷��Hû"Ô Ï�Î9öúÐ
ó §PÓ öúÎ ÒÞÔ�Ó ÜúÒí§P¨�©ÇÜ n Î9Ð
ö © Ð Ò ó Ô�ÒúÒ Ð ü	¨'§ öÞÎ
× Ð Ý Î ¨ Ð ¨�� Î=ó Ü Ð üH¨«Û#�
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7 Î·ó ü	¨�Ò Ð © Î9ö § õ Ô õ�õ Ó ÎÖÐ ¨�§P¨ Ð ¨ | ¨ Ð Ü Î Ó
§�u Î9ö ü o Ü9n ÎÖÏ §	×	¨ Î Ü Ð�ó Ó Ð{z Ô Ð ©��#� Î Ü

r̄ = R
(

1 + ζ(α, t)
)

õ#Î Ü9n ÎyÎ=z Ô#§»Ü Ð ü	¨�ü o Ü n ÎMo½öÞÎ=ÎyÐ ¨3Ü Î9ö9o § ó9Î>o ü ö § õ Ô õ�õ Ó Î�Ð ¨ ô ü	Ó�§ ö�ó ü�ü ö © Ð ¨�§»Ü Î Ò
(r̄, α)ó ü	¨�¨ Î=ó Ü Î ©7r Ð Ü n Ð ÜúÒ Ï ü»Ý Ð ¨�× ó9Î ¨3Ü Î=ö  Cr�n Î=öÞÎ ζ(α, t) Ð ÒíÜ9n Î © Ð
Ï�Î ¨�Ò Ð ü	¨�Ó Î ÒúÒ Ð ¨3Ü Î=öpo § óUÎ

ô#Î=ö ÜúÔ öÞõ §»Ü Ð ü	¨�ü o Ü n Îyó9Ð ö6ó Ô�Ó�§ ö�õ Ô õ�õ Ó Î r̄ = R Ð ¨�Ü n Î s Î Ó Î ßÁ�Cn�§�r ó9Î Ó
ÓW��� §PÍ Ð ¨�×iÜ9n Î
Í Ð ¨ Î=Ï §PÜ Ð�ó õ üHÔ�¨�©�§ ö u ó ü	¨�© Ð Ü Ð üH¨ o½ö ü Ï Ü n Î�� § öúó u Î�z Ô�§PÜ Ð ü	¨�§ ó9ó ü	Ô�¨3Ü Ð ¨�× o ü ö Ü n Î
Ï §	×	¨ Î Ü Ð�óEo ü ö6óUÎ Ò v ÷4w�§P¨#©�Ó Ð ¨ Î § öÞÐ989Ð ¨�× Ð Ü)r Ð Ü n öÞÎ Ò ô�Î=ó Ü+ÜÞü

ζ
r Î ü õ Üú§ Ð ¨�Ü n Î�o ü	Ó
Ó
ü4r Ð ¨�×

ô�ö ü õ Ó Î9ÏhÐ ¨ Ü9n Î © Ð
Ï�Î ¨�Ò Ð ü	¨�Ó Î ÒúÒ o ü öúÏ à

∂ζ

∂t
= −Bg sin α

∂ζ

∂α
− 2Bg cosα ζ +

∂p

∂r

∣

∣

∣

r=1
,

�²Ú��
Õ �

p|r=1 = − ∂2ζ

∂α2
− (2Bg cosα + a)ζ +

Bm

2h2

∫ π

−π

[ζ(τ, t) − ζ(α, t)

| sin (α − τ)/2|

− ζ(τ, t)
√

sin2 (α − τ)/2 + h2/4

]

dτ,
�²Ú�� Ú �
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∆p = 0 if r > 1, p = c ln r + O(1) if r → +∞ .
�WÚ�� ÷ �

s Î9öúÎ c = c(t)
× Î ¨ Î=ö §	Ó Ó"u'© Î=ô#Î ¨�©�Ò£üH¨

t
§P¨�© Ð Ü Ð Ò¥© Î Ü Î=öÞÏ�Ð ¨ Î © õ u'Ü n ÎÖÎ�z Ô�§	Ó Ð Ü�u

∫ π

−π

ζ(τ, t) dτ = 0
�WÚ�� Û �

§P¨�© Î�z Ô�§PÜ Ð ü	¨�Ò��WÚ�� Õ � §	¨�© �WÚ�� ÷ � �»ª o Ü Î=ö Ò Ð
Ï�ô Ó Î¦ó ü Ï�ô Ô�Ü6§»Ü Ð üH¨�Ò Ð Ü ó §P¨ õ�Î Òpn�ü4r£¨·Ü9n#§»Ü

c =
1

2π

∫ π

−π

cos τ ζ(τ, t) dτ.

��¨ Ð Ü Ð §	Ó1Ý»§PÓ
Ô Î Òpn�ü	Ô�Ó�© õ�Î Ò ô#ÎLóUÐ | Î © o ü ö ζ o Ô�¨ ó Ü Ð üH¨.§PÜ
t = 0

à

ζ(α, 0) = ζ0(α) .
�²Ú�� Ù �

s Î9öúÎ Ü n Î o ü	Ó
Ó ü4r Ð ¨�× © Ð Ï�Î ¨#Ò Ð ü	¨�Ó Î ÒúÒ ô § ö § Ï�Î Ü Î9ö Ò>r Î9öúÎÈÐ ¨3Ü ö ü�©�Ô óUÎ ©�à
r = r̄

R
Ð Ò

Ü9n Î�ö §	© Ð Ô�Ò= 
h = h̄

R

Ü9n Î Ü n Ð
ó Í�¨ Î ÒÞÒ'ü o Ü9n Î s Î Ó Î Ø��Cn�§�r ó9Î Ó
ÓW 
Bm

Ü n Î�Ï §P×	¨ Î Ü Ð�ó
¬íüH¨�©Ë¨�Ô Ïyõ#Î=ö v Ú�  ÷4w ù

Bg
Ü n Î × ö §�Ý Ð Üú§PÜ Ð ü	¨�§	Ó%¬�ü	¨�©Ë¨�Ô Ïyõ#Î=ö ù

p = p(reiα, t)
Ü n Î

Î � Î=ó Ü Ð Ý Îyô�öÞÎ ÒÞÒÞÔ öúÎyÐ ¨�Ü n Î�Ï §	×	¨ Î Ü Ð�ó Ó Ð{z Ô Ð © ü	Ô�Ü6Ò Ð © Î Ü9n Î�õ Ô õ�õ Ó Î �1�_n Îió üH¨�ÒEÜú§P¨3Ü
aÐ Ò¥© Î Ü Î=öÞÏ�Ð ¨ Î © §	Ò

a = 1 − 2Bm

h2



2 +

∫ π/2

0

cos 2τ dτ
√

sin2 τ + h2/4



 ,
�²Ú�� } �

ü ö£õ u Î Ó
Ó Ð ô Ü Ð
ó:o Ô�¨ ó Ü Ð üH¨�Ò

a = 1− 2Bm

h2

(

2 − 2E

k
+

(2

k
− k

)

K
)

,

r�n Î9öúÎ

K =

∫ π/2

0

dτ
√

1 − k2 sin2 τ
, E =

∫ π/2

0

√

1 − k2 sin2 τ dτ

§ öúÎ o Ô�Ó Ó Î Ó
Ó Ð ô Ü Ð
ówÐ ¨3Ü Î × ö §PÓ�ÒËü o Ü n Î | ö ÒÁÜ�§P¨�©ZÒ Î=ó ü	¨�© Í Ð ¨#© öÞÎ Ò ô�Î=ó Ü Ð Ý Î Ó"u	 
k =

1
√

1 + h2/4
.

� Ð ¨ óUÎ£ó ü Î��'ó9Ð Î ¨HÜ6Ò ü o5ô�ö ü õ Ó Î9Ï �WÚ�� Õ � Ø �²Ú�� Ù � ©�ü�¨�üPÜ+© Î=ô#Î ¨�© Î;x�ô Ó Ð
ó9Ð ÜúÓyuBü	¨yÜ Ð
ÏÇÎ  
r Î�öúÎ9ô�öúÎ Ò Î ¨3Ü¦Ü9n Î ÒÞü	Ó
Ô�Ü Ð ü	¨ Ð ¨«Ü n Î(o ü öúÏ

ζ = eλtu(α), p|r=1 = eλt(Pu)(α),
�WÚ��2~ �

r�n Î9öúÎ
P

Ð Ò"§ÇÓ Ð ¨ Î § ö ü ô�Î9ö §»ÜÞü ö ���_n Ð Ò¥Ó Î §H©�Ò¦Ô�Ò¥ÜÞü�Ü9n Î(o ü	Ó
Ó ü4r Ð ¨�×'Ò ô#Î=ó Ü ö §PÓ ô�ö ü õ Ó Î=Ï
Ð ¨ Ü9n Î Ò Î Ü

Ω
ü o Ü�r Ð
ó9Î�ó ü	¨3Ü Ð ¨�Ô�ü	Ô#ÒEÓ"uÈ© Ð � Î=öÞÎ ¨3Ü Ð § õ Ó Î 2π ô�Î9öúÐ ü�© Ð�ó:o Ô�¨ ó Ü Ð ü	¨�Ò=à

−λu = Bg sin α
du

dα
+ 2Bg cosα u − 1

4π
(v.p.)

∫ π

−π

(Pu)(τ) − (Pu)(α)

sin2 (τ − α)/2
dτ

− Bm

2π

∫ π

−π

cos τ u(τ) dτ ,
�WÚ�� ý �
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±ÀµU°²´�Ã=±Àµ9°²±�¯�

Ä������µ��6µ9Ì6¯

(Pu)(α) = − d2u

dα2
− (a + 2Bg cosα) u − Bm

2h2

π
∫

−π

u(τ) dτ
√

sin2 (τ − α)/2 + h2/4

+
Bm

2h2

∫ π

−π

u(τ) − u(α)

| sin (τ − α)/2| dτ,
�²Ú�� � �

r Ð Ü n«Ü n Î·ó ü Ï�ô Ó Î=Ï�Î ¨3Üú§ ö u ó ü	¨�© Ð Ü Ð ü	¨
∫ π

−π

u(α)dα = 0.
�WÚ��
Õ=ø �

��ÌÞ¶L¶Á¸ ��¢ z Ô�§PÜ Ð ü	¨ �WÚ�� � �Mo ü	Ó
Ó ü4r¥Ò o½ö ü Ï �WÚ�� Ú � §P¨�©�Ü n Î�öúÎ9ô�öúÎ Ò Î ¨3Ü6§»Ü Ð ü	¨#Ò��WÚ���~ � �%ª
õ üHÔ�¨�© Î © n#§ öúÏ üH¨ Ð�ó�o Ô�¨ ó Ü Ð ü	¨

p(reiα) o ü ö r > 1 ó §P¨ õ#ÎËöúÎ9ô�öúÎ Ò Î ¨3Ü Î © õ u Ü n Î
� ó nCr�§ ö 8�Ð ¨3Ü Î × ö §PÓ²� �"Ð � Î9öúÎ ¨3Ü Ð §»Ü Ð ¨�×

p
r Î × Î Ü

∂

∂r
p(reiα) = − 1

π

∫ π

−π

(1 + r2) cos (α − τ) − 2r
(

1 − 2r cos (α − τ) + r2
)2 p(eiτ ) dτ,

r�n Ð
ó n ó §P¨ õ#Î Ü ö §	¨�Ò o ü öÞÏ�Î © o ü ö r > 1
§HÒ

∂

∂r
p(reiα) = − 1

π
(v.p.)

∫ π

−π

(1 + r2) cos (α − τ) − 2r
(

1− 2r cos (α − τ) + r2
)2 [p(eiτ ) − p(eiα)] dτ,

�WÚ�� ÕHÕ �
Ò Ð ¨ óUÎ

∫ π

−π

(1 + r2) cos (τ − α) − 2r

(1 − 2r cos (τ − α) + r2)2
dτ = 0 .

�_n Î Ó
§HÒÁÜ Î�z Ô�§	Ó Ð Ü�u ó §	¨ õ�Î ü õ Üú§ Ð ¨ Î © Ô�Ò Ð ¨�×«Ü9n Î ÒÞÔ õ ÒEÜ Ð ÜÞÔ�Ü Ð üH¨
ξ = exp

(

i(α − τ)
)

§P¨�© öÞÎ Ò Ð ©�Ô Î�� Ò~Ü9n Î ü ö u o ü ö
ó ü Ï�ô Ó Î;xBÐ ¨3Ü Î × ö §	Ó
Ò=���c§	Í Ð ¨�×�Ü9n Î Ó Ð Ï�Ð Ü r → 1+0 Ð ¨ �WÚ��
Õ	Õ �
× Ð Ý Î Ò

∂p

∂r

∣

∣

∣

r=1
=

1

4π
(v.p.)

∫ π

−π

(Pu)(τ) − (Pu)(α)

sin2 (τ − α)/2
dτ.

��ü ö Ô�¨ õ ü	Ô�¨�© Î ©>n#§ öúÏ üH¨ Ð�ó�o Ô�¨ ó Ü Ð ü	¨�Ò Òú§»Ü Ð Ò o u Ð ¨�×!�WÚ�� ÷ � r Î%Ï Ô#ÒÁÜ
§	©�©B§ ó üH¨�ÒEÜú§P¨3Ü

c
Üúü ∂p

∂r

∣

∣

r=1
Ð ¨��WÚ�� Õ � �P�_n Ð Ò ó üH¨�ÒÁÜ6§P¨3Ü ó §P¨ õ#Î © Î Ü Î=öÞÏ�Ð ¨ Î © õ u Ð ¨HÜ Î × ö §PÜ Ð ¨�× �²Ú��
Õ � §P¨�©

Ô�Ò Ð ¨�×��WÚ�� Û � ���_n Ð Ò¦× Ð Ý Î Ò�Ô�Ò��²Ú�� ý � �
�

�_b�� j
')& g lpk*" +��_h +pjIe<lph)d h10 2 g	h14�+/&(' � �_b
	���
�� �_bpa����

��¨lÜ9n Ð ÒyÒ Î=ó Ü Ð ü	¨ r Î'ô�öúÎ Ò Î ¨3ÜB§P¨ Î �'óUÐ
Î ¨3Ü Ï�Î Ü n�ü�© o ü ö ¨3Ô ÏÇÎ=öÞÐ�ó §	Ó%ÒÞü	Ó
Ô�Ü Ð ü	¨Ëü o Ü n Î
Ò ô�Î=ó Ü ö §PÓ ô�ö ü õ Ó Î9Ï �²Ú�� ý � Ø �WÚ��
Õ=ø � �5� Ü Ð Ò õ §	Ò Î ©�üH¨�¨�üH¨�Òú§»ÜÞÔ ö §PÜ Î © § ô�ô�ö ü x�Ð
Ï §PÜ Ð ü	¨�Ò
ü o Î9Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�Ò_r Ð Ü9n Ü9n Î �fn Î9õ u�Òpn Î Ý ô ü	Ó"u3¨�ü Ï�Ð §	Ó
Ò%ØÈ§P¨#§PÓ
ü	×	üHÔ�Ò%ÜÞüKn�ü4r Ð ÜIr¦§	Ò
©�ü	¨ Î�Ð ¨ v ý
w o ü ö Ü9n Î � §»Ü n Ð Î Ô o Ô�¨ ó Ü Ð üH¨�Ò=�~�_n ÎiÏ�Î Ü n�ü�© Ð ÒÖ© Ð � Î=öÞÎ ¨3Ü o ü öÖÎ Ý Î ¨l§P¨�©
ü�©�© Î=Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�Ò

u+(α)
 
u−(α)

 	r�n Î9öúÎ

u+(α) =
u(α) + u(−α)

2
, u−(α) =

u(α) − u(−α)

2
.



É#¾iº � ���¥´ ��� � µ�­�®#° µ9Ì½¸Uº	¿6µ��£µ9Ì�°W´�Ì �6º»°²±À¶»®�¯ Ú ��Õ
� Î9ô § ö §PÜ Ð ü	¨yü o#Î Ý Î ¨y§P¨#©Bü�©�© ô § ö ÜúÒ ü o �WÚ�� ý � Ø �²Ú��
Õ=ø � × Ð Ý Î ÒcÜ�ríü�Ò ô#ÎLó Ü ö §PÓ ô�ö ü õ Ó Î=Ï Ò=à

−λ±u± = Bg sin α
du±

dα
+ 2Bg cosα u± − (v.p.)

π
∫

−π

(Pu±)(τ) − (Pu±)(α)

4π
(

sin2 (τ − α)/2
) dτ

− Bm

2π

∫ π

−π

cos τ u±(τ) dτ,
�À÷�� Õ �

(Pu±)(α) = −d2u±

dα2
− (a + 2Bg cosα)u± − Bm

2h2

π
∫

−π

u±(τ) dτ
√

sin2 (τ − α)/2 + h2/4

+
Bm

2h2

∫ π

−π

u±(τ) − u±(α)

| sin (τ − α)/2| dτ,
�W÷�� Ú �

r Ð Ü n«Ü n Î·ó ü Ï�ô Ó Î=Ï�Î ¨3Üú§ ö u ó ü	¨�© Ð Ü Ð ü	¨
∫ π

−π

u±(α) dα = 0.
�À÷�� ÷ �

��¨ Ü n ÎÈó §	Ò Î ü o�Î Ý Î ¨ Î=Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�Ò�r Î Ô#Ò Î �fn Î9õ u�Òpn Î Ý ô ü	Ó"u3¨�ü Ï�Ð §	Ó
Ò�ü o Ü n Î
| ö ÒEÜ Í Ð ¨�©�  õ Ô�Ü Ð ¨yÜ9n Î£ó §	Ò Î ü o ü�©�© Î=Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�Ò9 	�fn Î=õ u�Ò9n Î Ý ô üHÓyu�¨�ü ÏÇÐ §PÓ�Ò ü o Ü n Î
Ò ÎLó ü	¨#©�Í Ð ¨�©l§ öúÎ Ô#Ò Î ©��1ª"Ò·§ öúÎ ÒÞÔ�Ó Ü�r Î ü õ Üú§ Ð ¨�Ü�ríü Î=Ð × Î ¨�Ý»§PÓ
Ô Î §	¨�© Î9Ð × Î ¨3Ý Î=ó ÜÞü ö
ô�ö ü õ Ó Î9Ï Ò o ü ö N ×N Ï §PÜ öúÐ
ó9Î Ò

A±
N

�H�_n Î § ô�ô�ö ü x�Ð Ï §PÜ Î ÒEüHÓ Ô�Ü Ð ü	¨�Ò ü o �²Ú�� ý � Ø �WÚ�� ÕLø �
ó §P¨ õ�ÎÇöúÎ9ô�öÞÎ Ò Î ¨HÜ Î © õ u ÏÇÎ §P¨�Ò�ü o Ü n Î ÒEüHÓ Ô�Ü Ð ü	¨�Ò�ü o Ò ô�Î=ó Ü ö §PÓ ô�ö ü õ Ó Î=Ï Ò o ü ö Ü9n Î Ò Î
Ï §PÜ öúÐ
ó9Î Ò=����¨�× Î ¨ Î9ö §PÓ² 3Ü9n Î § ó9ó Ô ö § ó uiü o § ô�ô�ö ü x�Ð
Ï §»Ü Ð üH¨�Ò Ð ¨ ó9öÞÎ §	Ò Î Ò_r�n Î ¨

N Ð Ò Ð ¨�ß
óUöúÎ §	Ò Î ©1�
� �������N��� ������	�
 � Äz¿6¶»¾
��´�°�º»°²±À¶»®�¶Á¸�µUÃ»µU®�µ9±��Hµ9®=¸6´�®5¿U°²±À¶»®�¯

u+(α)
� µ6º	Å»¯¥° ¶B°³¼�µ ¸U¶ ���

� ¶��
±³®��'¯���µ6¿U°²ÌÞº ����ÌÞ¶ � � µ9¾

(A+
N + λ+EN)~w = 0, ~w = (w1, w2, . . . , wN )T ,

�W÷�� Û �

A+
N = Bg

[

{diag(x2
k − 1)}∆(1)

N + 2{diag xk}
]

−G+
NPN ,

G+
N =

1

2N

[

2H+
N − {diag(x2

k − 1)}(∆(1)
N )2 − {diag xk}∆(1)

N

]

,

PN = {diag(x2
k − 1)}(∆(1)

N )2 + {diag xk}∆(1)
N

− {diag(a + 2Bg xk)} +
Bm

h2

{

−4{diag xk}∆(1)
N

+
π

N
[M+

N − {diag s+
k }∆

(1)
N ]

}

.

s Î9öúÎ {diag µk} Ð Ò¥§�© Ð §P×Hü	¨�§	Ó Ï §PÜ öúÐ#x r Ð Ü9n Î Ó Î=ÏÇÎ ¨3ÜúÒ
µk, k = 1, 2, . . . , N

 

xk = − cos
(2k − 1)π

2N
, k = 1, 2, . . . , N,

s+
k =

N
∑

j=1,j 6=k

(xj − xk)Φ(xk , xj , 0),
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Φ(x, ξ, h) =

[

1 − xξ + h2/2 +
√

(ξ − x)2 + (1 − xξ)h2 + h4/4

(ξ − x)2 + (1 − xξ)h2 + h4/4

]1/2

,
�W÷�� Ù �

∆
(1)
N

Ð Ò£Ü9n Î �fn Î=õ u�Ò9n Î ÝÈ© Ð � Î=öÞÎ ¨HÜ Ð §PÜ Ð ü	¨ Ï §»Ü öúÐyx r Ð Ü n Î Ó Î9Ï�Î ¨3ÜúÒ

δ
(1)
kj =

T ′
N (xk)

(xk − xj)T ′
N(xj)

, if j 6= k, δ
(1)
kk =

T ′′
N (xk)

2T ′
N(xk)

,

H+
N

§P¨�©
M+

N

§ öÞÎ�Ï §»Ü öÞÐ�óUÎ Òfr Ð Ü9n Î Ó Î=ÏÇÎ ¨3ÜúÒ

h+
kj =

1− xjxk

(xj − xk)2
, if j 6= k, h+

kk =
x2

k

4(1 − x2
k)

− N2 − 1

3
,

m+
kj = Φ(xk , xj , 0) − Φ(xk , xj , h), if j 6= k ,

m+
kk = −Φ(xk , xk, h) −

N
∑

j=1,j 6=k

Φ(xk , xj , 0).

� Î Ü
λ+

m

§P¨�©
~w(m) = (w1(m), . . . , wN (m))T , m = 1, 2, . . . , N, õ#Î Ü9n Î·Î=Ð × Î ¨�Ý»§PÓ ß

Ô Î Òí§P¨�© ó ü öÞöúÎ Ò ô ü	¨�© Ð ¨�× Î9Ð × Î ¨�Ý Î=ó ÜÞü ö Ò ü o �W÷�� Û � �H�_n Î ¨�Ü n Î § ô�ô�ö ü x�Ð
Ï §»Ü Î¦Î=Ð × Î ¨ o Ô�¨ ó ß
Ü Ð ü	¨

u+
m(α) ó ü öÞöúÎ Ò ô üH¨�© Ð ¨�×·Üúü

λ+
m

ó §	¨ õ�ÎÖöÞÎ=ô�öúÎ Ò Î ¨3Ü Î ©È§	Ò o üHÓ Ó
ü4r¥Ò

u+
m(arccosx) ≈ TN(x)

N
∑

k=1

wk(m)

(x − xk)T ′
N (xk)

, x = cosα,
�À÷�� } �

ü ö

u+
m(α) ≈ cosNα

N
∑

k=1

(−1)N+kwk(m) sin[(2k − 1)π/(2N)]

cosα + cos[(2k − 1)π/(2N)]
.

�W÷���~ �

��ÌÞ¶L¶Á¸ � 7 ÎyÐ ¨3Ü ö ü�©�Ô óUÎ ¨ Î r�Ý»§ öÞÐ § õ Ó Î Ò
x = cosα, ξ = cos τ Ð ¨ �À÷�� Õ � Ø �À÷�� ÷ ��o ü ö

λ+; u+(α)
 c§P¨�©�ü õ Ò Î9ö Ý Î Ü9n�§PÜ ö § ô�Ð ©�Ó"u ó üH¨�Ý Î9ö × Î ¨3Ü�Ò Î9öúÐ Î Ò o ü ö Ü9n Î�Î9Ð × Î ¨ o Ô�¨ ó Ü Ð ü	¨

u+(α)
§ ó9ó ü ö © Ð ¨�×iÜÞü {cos kα}, k = 0, 1, . . .

Ü ö §P¨#Ò o ü öÞÏ Ò Ð ¨3ÜÞü.Ò Î=öÞÐ
Î Ò!r Ð Ü n öúÎ Ò ô#ÎLó Ü
ÜÞü {Tk(x)} � ��Î ¨�üPÜ Ð ¨�×

u+(arccosx) = u(x)
§P¨�©�§ o Ü Î9ö ÒÞü Ï�ÎyÎ Ó Î=Ï�Î ¨3Üú§ ö u Ï §P¨ Ð ß

ô Ô�Ó�§»Ü Ð ü	¨#Ò9 <r Î ü õ Ü6§ Ð ¨

−λ+u(x) = Bg[(x2 − 1)u′(x) + 2xu(x)]

− (v.p.)
1

π

∫ 1

−1

[(P̃u)(ξ) − (P̃u)(x)](1 − xξ)dξ
√

1 − ξ2 (ξ − x)2
.

�W÷�� ý �

�_n Î Ó Ð ¨ Î § ö ü ô#Î=ö §PÜÞü ö
P̃

Ð ÒB© Î | ¨ Î © õ u�Ü n ÎiÎ�z Ô�§	Ó Ð Ü�u (Pu)(arccosx) = (P̃u)(x)
�

�_n Î9öúÎ;o ü öÞÎ  

(P̃u)(x) = (x2 − 1)u′′(x) + xu′(x) − (a + 2Bg x)u(x)

+
Bm

h2

∫ 1

−1

[u(ξ) − u(x)]Φ(x, ξ, 0) − u(ξ)Φ(x, ξ, h)
√

1 − ξ2
dξ,

�W÷�� � �



É#¾iº � ���¥´ ��� � µ�­�®#° µ9Ì½¸Uº	¿6µ��£µ9Ì�°W´�Ì �6º»°²±À¶»®�¯ Ú �	÷
r�n Î9öúÎ Φ(x, ξ, h) Ð Ò£© Î | ¨ Î © õ u��À÷�� Ù � �#� Ð ¨ óUÎ

(v.p.)

∫ 1

−1

dξ

(ξ − x)
√

1 − ξ2
= 0 ,

r Î n�§�Ý Î

(v.p.)

1
∫

−1

[(P̃u)(ξ) − (P̃u)(x)(1 − xξ)
√

1 − ξ2 (ξ − x)2
dξ = −x

1
∫

−1

(P̃u)(ξ) − (P̃u)(x)
√

1 − ξ2 (ξ − x)2
dξ

+ (1 − x2)

∫ 1

−1

(P̃u)(ξ) − (P̃u)(x) − (ξ − x)(P̃u)′(x)
√

1− ξ2 (ξ − x)2
dξ.

¡�¨ÈÜ n Î üPÜ n Î9ö n�§	¨�©
∫ 1

1

u(ξ) − u(x)
√

1 − ξ2
Φ(x, ξ, 0) dξ = −4xu′(x)

+

∫ 1

−1

u(ξ) − u(x) − (ξ − x)u′(x)
√

1 − ξ2
Φ(x, ξ, 0) dξ .

¢+Ý»§PÓ
Ô�§»Ü Ð ¨�×��À÷�� ý � Ø��À÷�� � � §PÜ
xk

 Cr�n Ð�ó n«§ öÞÎ589Î=ö ü Î Òíü o Ü9n Î �fn Î=õ u�Ò9n Î Ý ô ü	Ó"u�¨�ü Ï�Ð §PÓ
TN (x)

  Î Ý»§PÓ
Ô�§»Ü Ð ¨�×B§PÓ
Ó#© Î=öÞÐ Ý»§»Ü Ð Ý Î Ò%§ ó9ó ü ö © Ð ¨�×�Üúü·Ü n Î © Ð � Î9öúÎ ¨3Ü Ð §»Ü Ð üH¨ Ï §PÜ öúÐ#x
∆

(1)
N

 
§P¨�© § ô�ô�ö ü x�Ð
Ï §PÜ Ð ¨�× Ð ¨3Ü Î × ö §PÓ�Ò õ u'Ü9n Î(o üHÓ Ó
ü4r Ð ¨�× z Ô�§H© ö §»ÜÞÔ öÞÎ`o ü öúÏ Ô�Ó�§

∫ 1

−1

f(ξ)
√

1 − ξ2
dξ ≈ π

N

N
∑

j=1

f(− cos[(2j − 1)π/(2N)]),
�À÷�� ÕLø �

r Î ü õ Üú§ Ð ¨ÇÜ9n Î£Î9Ð × Î ¨�Ý»§PÓ
Ô Î §	¨�© Î9Ð × Î ¨�Ý Î=ó Üúü ö ô�ö ü õ Ó Î9Ï o ü ö
Ï §»Ü öÞÐyx
A+

N

�	¢%§ ó n Î9Ð × Î ¨�ß
Ý�§	Ó Ô Î λ+

m
ó ü öúöÞÎ Ò ô ü	¨#©�Ò+Üúü�Ü9n ÎÖÎ=Ð × Î ¨�Ý ÎLó Üúü ö ~w(m)

 mr�n Ð
ó n n�§�Ý Î Ü n Î·ó ü ÏÇô ü	¨ Î ¨3ÜúÒ

wk(m) ≈ u+
m(arccosxk), k = 1, . . . , N .

�_n Î9öúÎ;o ü öÞÎ   o ü öúÏ Ô�Ó�§	Ò �W÷�� } � §	¨�© �À÷���~ � § öÞÎ ü õ Üú§ Ð ¨ Î ©l§	Ò�Ü n Î �~§	× ö §P¨�× ÎyÐ ¨3Ü Î=öÞô ü	Ó�§»ß
Ü Ð ü	¨�Ò=�

�

� �������N��� ������	�� � Äh¿6¶»¾
��´�°�º»°²±À¶»®l¶Á¸B¶LÅ	Å«µU±��3µU®L¸6´�®�¿9°W±À¶P®�¯
u−(α)

� µ6ºHÅ�¯·°�¶i°½¼�µí¸U¶ ���
� ¶��
±³®��'¯���µ6¿U°²ÌÞº ����ÌÞ¶ � � µ9¾�¸U¶»Ì·¾iº»°²Ì�±À¿6µ�¯

(A−
N + λ−EN)~v = 0, ~v = (v1, v2, . . . , vN )T ,

�À÷�� ÕHÕ �

A−
N = Bg

(

{diag(z2
k − 1)}∆(2)

N + 3{diag zk}
)

−G−
NQN ,

G−
N =

1

N + 1

[

H−
N − 1

2
{diag(z2

k − 1)}(∆(2)
N )2 − (N − 7

2
){diag zk}∆(2)

N

]

,

QN = {diag(z2
k − 1)}(∆(2)

N )2 + [3 − 4Bm/(3h2)]{diag zk}∆(2)
N

− {diag
(

2Bg zk + a − 1 − 4Bm

h2

)

} +
π

N + 1

[

−{diag s−k }∆
(2)
N + M−

N

]

.



Ú �PÛ �������� Ì�´	�J±�¯�

���1Â
±ÀµU°²´�Ã=±Àµ9°²±�¯�

Ä������µ��6µ9Ì6¯
s Î9öúÎ a Ð Ò ó §	Ó ó Ô�Ó
§PÜ Î © o½ö ü Ï �²Ú�� } �  

zk = − cos
( kπ

N + 1

)

, k = 1, 2, . . . , N

§ öúÎ 89Î=ö ü Î ÒBü o Ü n Î �fn Î9õ u�Òpn Î Ý ô üHÓyu�¨�ü ÏÇÐ §PÓíü o Ü n Î Ò Î=ó ü	¨�© Í Ð ¨�©
UN(x)

 
∆

(2)
N

Ð Ò
�fn Î9õ u�Òpn Î ÝÈ© Ð � Î9öúÎ ¨3Ü Ð §»Ü Ð üH¨ Ï §»Ü öÞÐyx r Ð Ü9n Î Ó Î9Ï�Î ¨HÜ6Ò

δ
(2)
kj =

U ′
N(zk)

(zk − zj)U ′
N (zj)

, if j 6= k, δ
(2)
kk =

U ′′
N (zk)

2U ′
N(zk)

,

H−
N

§P¨�©
M−

N

§ öÞÎ�Ï §»Ü öÞÐ�óUÎ Òfr Ð Ü9n Î Ó Î=ÏÇÎ ¨3ÜúÒ

h−
kj =

1 − z2
j

(zj − zk)2
, if j 6= k, h−

kk = − zk

4(1 − z2
k)

− N2 + 2N + 3

3
,

m−
kj = (1 − z2

j )[Ψ(zk, zj , 0) − Ψ(zk, zj , h)], if j 6= k;

m−
kk = −(1 − z2

k)Ψ(zk, zk, h) −
N

∑

j=1,j 6=k

(1 − z2
j )Ψ(zk, zj , h) .

��Ô�¨ ó Ü Ð ü	¨
Ψ Ð Ò£© Î | ¨ Î © §HÒ

Ψ(x, ξ, h) = g(x, ξ, h)
[

1 − xξ +
h2

2
+ g(x, ξ, h)

]1/2

,

r�n Î9öúÎ g(x, ξ, h) = [(ξ − x)2 + (1 − xξ)h2 + h4/4]1/2,

s−k =
N

∑

j=1,j 6=k

(1 − z2
j )(zj − zk)Ψ(zk, zj , 0).

s Î9öúÎ λ−
m

§P¨�©
~v(m) = (v1(m), . . . , vN (m))T , m = 1, 2, . . . , N,

§ öúÎ Ü9n ÎÖÎ=Ð × Î ¨�Ý»§PÓ ß
Ô Î Ò�§P¨�© ó ü öúöÞÎ Ò ô ü	¨�© Ð ¨�× Î=Ð × Î ¨�Ý ÎLó Üúü ö Òíü o+ô�ö ü õ Ó Î9Ï �À÷��
Õ	Õ � ���_n Î § ô�ô�ö ü x�Ð
Ï §»Ü Ð ü	¨.ü o
Î9Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨

u−
m(α) ó §P¨ õ�ÎÖöÞÎ=ô�öÞÎ Ò Î ¨3Ü Î ©«§	Ò=à

u−
m(arccosx) ≈

√

1 − x2 UN (x)

N
∑

k=1

vk(m)

(x − zk)U ′
N (zk)

, x = cosα,
�À÷��
ÕLÚ �

r�n Î9öúÎ zk = − cos[kπ/(N + 1)]
 �ü ö

u−
m(α) ≈ sin (N + 1)α

N + 1

N
∑

k=1

(−1)N+k+1vk(m) sin[kπ/(N + 1)]

cosα + cos[kπ/(N + 1)]
.

�À÷�� ÕL÷ �

��ÌÞ¶L¶Á¸ �tª ô�ö ü�ü o ü o Ü9n Ð Ò ó §	Ò Î£Ð Òí§P¨�§	Ó üH×	üHÔ�Ò r Ð Ü n�Ü9n Î"ó §	Ò Î ü o�Î Ý Î ¨ Î9Ð × Î ¨ o Ô�¨ ó Ü Ð ü	¨�Ò=�
¡�¨�Óyu�¨�ü4r o ü ö λ−

§P¨�©
u−(α) Ð ¨ �W÷��
Õ �   �W÷�� Ú � r ÎÇÏ Ô�ÒEÜ�Ô�Ò Î Ü9n Î ÒÞÔ õ ÒEÜ Ð ÜÞÔ�Ü Ð üH¨�Ò�ü o

Ý�§ öÞÐ § õ Ó Î Ò
x = cosα, ξ = cos τ, u−(α)/ sin α = v(cos α).

�W÷��
Õ9Û �
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��¨�ÒÁÜ Î §H©�ü o Ü9n Î Ó Ð ¨ Î § ö ü ô#Î=ö §PÜÞü ö

P
r Î ü õ Ü6§ Ð ¨�Ü9n Î Ó Ð ¨ Î § ö ü ô#Î=ö §PÜÞü ö

Q
 �r�n Ð�ó n Ð Òí© Î ß

| ¨ Î © õ u Î=z Ô�§PÓ Ð Ü�u (Pu−)(α) =
√

1 − x2(Qv)(x)
§P¨#© ÒÞÔ õ ÒEÜ Ð ÜÞÔ�Ü Ð ü	¨�Ò��W÷��
Õ9Û � �#¡�©�©

Î9Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�Ò ó §P¨ õ#Î"öÞÎ=ô�öÞÎ Ò Î ¨3Ü Î © õ u ö § ô�Ð ©�Ó"u ó üH¨�Ý Î9ö × Î ¨3Ü Ò Î9öúÐ Î Ò�r Ð Ü n öÞÎ Ò ô�Î=ó Ü
ÜÞü
{sin kα}, k = 1, 2, . . .

��� Ð ¨ óUÎ

sin[(n + 1)x]

sin x
= Un(x), n = 0, 1, . . . ,

r Î ü õ Ü6§ Ð ¨��W÷��
ÕLÚ � Ø��W÷��
Õ=÷ �+õ uiÔ�Ò Ð ¨�×yÒÞÔ õ ÒEÜ Ð ÜÞÔ�Ü Ð üH¨�Ò Ð ¨ �À÷�� Õ �   �À÷�� Ú � §	¨�© Î Ý�§	Ó Ô#§»Ü Ð ¨�×
Ð Ü o ü ö 89Î9ö ü Î Ò�ü o Ü9n Î �fn Î9õ u�Òpn Î Ý ô ü	Ó"u�¨�ü Ï�Ð §PÓ�ü o Ü9n Î Ò Î=ó ü	¨�©«Í Ð ¨#©

UN(x)
�
�

� Ü Ð Ò�© Ð �'ó Ô�Ó Ü%Üúü Î ÒEÜ Ð
Ï §»Ü Î Ü9n Î ü öúÎ Ü Ð
ó §PÓ
ÓyuyÜ9n Î�Î9öúö ü ö ü o Ü n Î"ô�öúÎ Ò Î ¨3Ü Î ©�¨�Ô Ï�Î9öúÐ
ó §PÓ
ÏÇÎ Ü9n�ü�©�Ò=���_n Î9öúÎ;o ü öÞÎ  'r ÎíÑ Ô�©�× Î § õ üHÔ�ÜíÜ n Î�Î9öúö ü ö Ò õ u Ï�Î §P¨�Ò�ü o Ü9n Î`o ü	Ó
Ó ü4r Ð ¨�×BÜ�ríü
ô�ö ü ó9Î ©�Ô öúÎ Ò=à

Õ	���_n Î�ô�ö ü õ Ó Î9Ï Ð Ò¥ÒÞü	Ó
Ý Î © r Ð Ü9n�© Ð � Î=öÞÎ ¨3Ü
N

�
Ú��
��¨ Ü9n Î�ó §	Ò Î Bg = 0

 +¨�Ô Ï�Î=öÞÐ�ó §	Ó öÞÎ ÒEÔ�Ó ÜúÒÈ§ öúÎ.ó ü Ï�ô § öÞÎ © r Ð Ü9n Ü n Î�Î;x § ó Ü
ÒEüHÓ Ô�Ü Ð üH¨1à

λ+
m = λ−

m = −m ϕ(m), u+
m(α) = C1 cosmα, u−

m(α) = C2 sin mα ,
�À÷�� Õ�Ù �

r�n Î9öúÎ

ϕ(m) = m2 − 1 +
4Bm

h2

[

1 +

∫ π/2

0

sin[(m + 1)τ ] sin[(m − 1)τ)] dτ
√

sin2 τ + h2/4

−
∫ π/2

0

sin2 mτ

sin τ
dτ

]

,
�À÷�� Õ } �

C1
§P¨�©

C2
§ öúÎ § öúõ�Ð Ü ö § ö u ó ü	¨#ÒÁÜ6§P¨3ÜúÒ=�+ª_Ý»§PÓ Ð © Ð Ü�u ü o �W÷��
ÕLÙ � §	¨�© �À÷�� Õ } ��ó §	¨ õ�Î

Ý Î9öúÐ | Î © õ uÈÒEÔ õ ÒÁÜ Ð ÜúÔ�Ü Ð ü	¨ Ð ¨3ÜÞü��À÷�� Õ � Ø��W÷�� Ú � �

�Ib�� j
')& g lpk*" +�� &��Cj
+�e��

��ü ö Ü9n Î+õ�öÞÎ Ý Ð Ü�u	 �r Î
ô�öÞÎ Ò Î ¨HÜ1üH¨�Ó"u�¨�Ô Ï�Î9öúÐ�ó §PÓH§ ô�ô�ö ü x�Ð Ï §PÜ Ð ü	¨�Ò�ü o Ü n Î+Î9Ð × Î ¨�Ý�§	Ó Ô Î Ò�ü o
Ü9n Î Ò ô#ÎLó Ü ö §PÓ ô�ö ü õ Ó Î=Ï �WÚ�� ý � Ø��WÚ��
Õ=ø � ��û¥Ô ÏÇÎ=öÞÐ�ó §	Ó ÏÇÎ Ü9n�ü�©�Ò¦× Ð Ý Î ¨ Ð ¨«Ü9n Î�ô�öúÎ Ý Ð ü	Ô�Ò
Ò ÎLó Ü Ð ü	¨l§PÓ
Ó
ü4r�Ô�Ò�ÜÞü ó ü Ï�ô Ô�Ü Î Ü n Îió ü öÞöúÎ Ò ô üH¨�© Ð ¨�× Î=Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�ÒÖ§PÓ�ÒEü.§P¨#©�Ü n Î ¨
ÜÞü ó §PÓ ó Ô�Ó
§PÜ Î Ü n Î ÒEüHÓ Ô�Ü Ð ü	¨�ü o �WÚ�� Õ � Ø �WÚ�� Ù �¥õ u Ï §P¨ Ð
ô Ô�Ó�§»Ü Ð üH¨�Ò�Ü�u ô�Ð
ó §PÓ
Óyu.Ô�Ò Î © o ü ö
Ü9n Î ��ü	Ô öúÐ Î=ö¦ÏÇÎ Ü9n�ü�©��

� o Bm = Bg = 0
Ü9n Î ¨ Ð Ü o ü	Ó
Ó
ü4r¥Ò o½ö ü Ï �À÷�� Õ } � Ü9n�§PÜ

λ+
m = λ−

m = −m(m2 − 1) , m ≥ 1 .

�_n Î¥ô�öúÎ Ò Î ¨3Ü Î ©Ç¨3Ô ÏÇÎ=öÞÐ�ó §	Ó �"Î × Î ¨ Î9ö §»Ü Î�� §»Ü öÞÐyx � ��� �+Ï�Î Ü9n�ü�©1 �r�n Ð�ó n Ð Ò õ §	Ò Î ©Çü	¨
¨�ü	¨�Òú§»ÜúÔ ö §»Ü Î ©È§ ô�ô�ö ü x�Ð
Ï §»Ü Ð üH¨�Ò%ü o Î=Ð × Î ¨ o Ô�¨ ó Ü Ð üH¨�Ò_r Ð Ü n��fn Î9õ u�Òpn Î Ý ô ü	Ó"u�¨�ü Ï�Ð §PÓ�Ò9 
× Ð Ý Î Ò Î�x § ó Ü öúÎ ÒÞÔ�Ó Ü6Ò Ð ¨ Ü n Ð Ò ó §	Ò Î �

� ü3Ò Ð Ü Ð Ý Î Î9Ð × Î ¨3Ý»§	Ó Ô Î Ò«§ öÞÎ Ü9n Î�Ï üHÒEÜ Ð ¨3Ü Î=öÞÎ ÒÁÜ Ð ¨�× o ü ö § ô�ô Ó Ð�ó §PÜ Ð ü	¨�Ò Ò Ð ¨ ó9Î Ü n Î
Ð ¨�ÒEÜú§ õ�Ð Ó Ð Ü�u Ð ¨RÜ9n ÎlÐ ¨3Ü Î9ö9o § ó9Î ©<u�¨�§ Ï�Ð
ó Ò«ü o Ü9n Î�öúÐ Ò Ð ¨�× ×3§	Ò õ Ô õ�õ Ó ÎËó §	¨|© Î Ý Î Ó ü ô



Ú � } �������� Ì�´	�J±�¯�

���1Â
±ÀµU°²´�Ã=±Àµ9°²±�¯�

Ä������µ��6µ9Ì6¯
������� Q��
	�� G2���O$ C G *LC F�8=K � & C �L���LH 7
5 8=J ; H 7
5 Q ?=J �"���

Bg = 0, Bm = 5, h = 1,
/+DHGJ>ÞD

K;� C �=��$EK=GJF C�� �"��� � H½S 5 Q V�J K=F � � � $ÁD C_F�G �ÖC $ÁD,� � /+G�$ÁD
N = 20 K=F �

N = 80.

N = 20 N = 80
m (3.16) λ+

m
λ−

m
λ+

m
λ−

m

Q ?�5 ?L?=?L?=? ?�5 ?=?L?L?=? ?
5 ?=?L?=?L? ?
5 ?L?L?=?L? ?�5 ?L?=?L?L?
7 Q 5 : S :9@LV Q 5 : S :9@LV Q 5 : S :U@�V Q 5 : S :U@�V Q 5 : S :9@�V
S T²7
5 :=?=8L< S T²7
5 :9?L8L< S T²745 :9?L8=< S T 745 :=?L8=< S T²7
5 :=?=8L< S@�T 7 Q 5 Q @LVLV=< T²7 Q 5 Q @�VL<=?]T²7 Q 5 Q @»:=7=? T²7 Q 5 Q @�V=VL<]T²7 Q 5 Q @LVLVL<

 T²V=?�5 : Q <L8L: TWVL?�5 :=7 QLQ 8]TWVL?
5 :=7L7=: Q TWVL?
5 : Q <=8L8]TWV=?�5 : Q <L8L8
V"T Q 798�5 QLQ :9@=@�T Q 7=8�5 Q 7L7 Q 8�T Q 7=8
5 Q 7=VL:L:|T Q 798�5 QLQ :9@�V�T Q 798�5 QLQ :9@L8
:¥T²7L79<�5 :=VL: Q 8uT²7=7=<�5 :98L? Q <�T 7=7=<
5 :9<L?=<L?}T²7L79<�5 :=VL:L7 S T²7L79<�5 :=VL:L7=:
8"T S : Q 5 < 
 Q ?=VuT S : Q 5 <=8 Q ? S T S :L745 ?=?�7U@ 
 T S : Q 5 < 
 QLQ :�T S : Q 5 < 
 Q 7 

<"T 
 V=?�5 8LVL:9@ Q T 
 VL?�5 <=V�:L7 S T 
 VL?
5 8L: Q ?LV}T 
 V=?�5 8LVL:=V=@ÖT 
 V=?�5 8LVL:L:98

Q ?�TW8L?L7
5 VLV S <L:�TW8=?�7
5 :=:=8 
 :�T²8=?�745 89@»798=@�TW8L?L7
5 VLV9@ S <�TW8L?L7
5 VLV9@�V9@

ü	¨ ó ü öúöúÎ Ò ô üH¨�© Ð ¨�× Î=Ð × Î ¨ o ü öÞÏ Ò=�%¡�¨ Ü n Î üPÜ n Î9ö n�§	¨�©�  Î § ó n Î9Ð × Î ¨3Ý»§	Ó Ô Î õ�Î=ó ü Ï�Î Ò
ô ü3Ò Ð Ü Ð Ý Î!o ü ö ÒÞÔ �'óUÐ
Î ¨�Óyu�Ó�§ ö × Î Ý»§PÓ
Ô Î ü o Bm

���_n Ð Ò ó üH¨ ó Ó
Ô�Ò Ð üH¨ o ü	Ó
Ó ü4r¥Ò o½ö ü Ï �W÷��
Õ } � �
��¨B�c§ õ Ó Î Õfr Îíô�öÞÎ Ò Î ¨3Ü~Ü9n Î | ö ÒEÜcÜ Î ¨ Î=Ð × Î ¨�Ý»§PÓ
Ô Î Ò~ü o Ü n Î�ô�ö ü õ Ó Î9Ï �WÚ�� ý � Ø �²Ú��
Õ=ø �  

Bg = 0, Bm = 5, h = 1
  r�n Ð�ó nË§ öúÎÇó §PÓ ó Ô�Ó�§»Ü Î © õ u �À÷��
Õ } � §P¨�© ��� Ï�Î Ü n�ü�©�Ò

r Ð Ü nÈü ö © Î=ö Ò%ü o Ü n Î�Ï §PÜ öúÐ
ó9Î Ò
N = 20, N = 80

�Hª�ÒEr Î Ò Î=Î  3Ü9n Î�Ï § x�Ð
Ï §	Ó öúÎ Ó�§»Ü Ð Ý Î
Î9öúö ü ö ü o Ü n Î Î9Ð × Î ¨�Ý»§PÓ
Ô Î Ò ó §PÓ ó Ô�Ó�§»Ü Î © õ u ��� Ï�Î Ü n�ü�© Ð ÒBü o Ü9n Î ü ö © Î=ö 10−4 o ü ö
N = 20

§P¨�©
10−6 o ü ö N = 80

�

������� Q���	�� G2���O$ C G *=C F
8LK � & C �)���?H 745 8�J ; H 7
5 Q ?=J �{���
Bg = Bm = 5, h = 1,

/+DHGJ>ÞDiK;� C
�=��$EK=GJF C�� � �>F�G �ÖC $ÁD,� � ��/+G2$ÁD

N = 20, N = 40 K9F �
N = 80.

N = 20 N = 40 N = 80
m λ+

m
λ−

m
λ+

m
λ−

m
λ+

m
λ−

m

Q Q 5 ?�7=:=8L8 Q 5 ?�7=:=8 S Q 5 ?L7L:=8=8 Q 5 ?�7L:98�: Q 5 ?�7=:=8L8 Q 5 ?�7=:=8=8
7 Q ?�5 :=? QLQ @ Q ?�5 :9? QLQ 7 Q ?
5 :9? Q ?L< Q ?
5 :=? Q ?L< Q ?�5 :=? Q ?L< Q ?�5 :=? Q ?=<
S TÀ@'5 8 SPQ 8 S TÀ@'5 8 SPQ < Q TÀ@'5 8 S	Q :9< TÀ@�5 8 S	Q 8L? TW@�5 8 S	Q :=< TÀ@'5 8 SPQ :=<
@qT²7=7
5 QLQ6S @»:)T 7=7
5 QLQ6S 8=8]T²7L7
5 Q=Q�S 7 Q T²7L745 QLQ�S 7 S T²7=7
5 QLQ6S	Q <qT 7=7
5 QLQ6S	Q <

 TWV Q 5 Q @LV S :)T²V Q 5 Q @L8L? Q TWV Q 5 Q @ 
 ?9@]TWV Q 5 Q @ 
 Q @�TWV Q 5 Q @=@�<LVqT²V Q 5 Q @=@�<=V
V"T Q 798�5 SLS=S V=<ÖT Q 7=8�5 S=S 8 S <�T Q 7=8
5 S 7=< Q ?�T Q 7=8
5 S 7=< S <�T Q 798�5 S 798L8�7�T Q 798�5 S 798L89@
:¥T²7L79<�5 8L<9@�<9@·T²7=7=<�5 <=? 
 :9V�T 7=7=<
5 8=8�7 
 @ÖT²7L7=<
5 8L8 S 7 Q T²7L79<�5 8L8 Q :=<�T²7L79<�5 8L8 Q 8 S8"T S :=7
5 ?=@LVLV 
 T S :L7
5 ?=VL8 Q <�T S :L745 ? Q 8L79@ÖT S :L745 ? Q < 
 <�T S :=7
5 ? Q V 
�
 T S :=7
5 ? Q VLV S<"T 
 V=?�5 <LVL:L7 Q T 
 V Q 5 ?=V 
 8=<�T 
 VL?
5 <=?L< S 7�T 
 VL?
5 < QLQ : S T 
 V=?�5 <L? 
 8L<�T 
 V=?�5 <L?=VL? S

Q ?"TW8L?L7
5 8L? Q 79<ÖTW8=?�7
5 8=V 
 V=<�T²8=?�745 V=< SPQ @ÖTW8L?�745 VL<�: Q 
 TW8L?L7
5 VL8=V�:=V�TW8L?L7
5 VL8L:=? Q

��¨�� § õ Ó Î Ú r Î�ô�öúÎ Ò Î ¨3Ü�Ü9n Î | ö ÒEÜÖÜ Î ¨ Î9Ð × Î ¨�Ý»§PÓ
Ô Î Ò�ü o ü o Ü n Îiô�ö ü õ Ó Î9Ï �WÚ�� ý � Ø
�WÚ��
Õ=ø �   Bg = 5, Bm = 1, h = 1

  r�n Ð
ó n § öÞÎ'ó §PÓ ó Ô�Ó�§»Ü Î © õ u�Ü n Î �5� Ï�Î Ü9n�ü�©
r Ð Ü n ü ö © Î9ö Ò¦ü o Ü9n ÎÖÏ §»Ü öÞÐ�óUÎ Ò

N = 20, N = 40
§	¨�©

N = 80
�#�íü Ï�ô § öúÐ ¨�× öúÎ ÒÞÔ�Ó ÜúÒ

ü õ Ü6§ Ð ¨ Î © o ü ö λ+ §P¨�©
λ−

 mr Î Ò Î9Î Ü9n#§»Ü£Ü9n Î § ó=ó Ô ö § ó u o ü ö N = 20
§P¨�©

N = 80 Ð Ò
Ü9n Î Òú§ Ï�Î §	Ò Ð ¨ Ü9n Î � § õ Ó Î Õ o ü ö Bg = 0

�
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5

�������	W�Q ��	íA D C >�&���8 C �>����$ÁD C 0 ���O$ 0 8 CiC G *LC F
8=K � & C ��@
λ = λ(Bm) �"���

Bg = 3
5

��¨ � Ð ×	Ô öúÎ Õ�Ü9n Î © Î9ô�Î ¨�© Î ¨ óUÎ ü o Ü9n Î | ö ÒEÜ | Ý ÎiÎ=Ð × Î ¨�Ý»§PÓ
Ô Î Ò�üH¨ Ü n ÎiÏ §P×H¨ Î Ü Ð
ó
¬íüH¨�©«¨3Ô ÏBõ�Î9ö Bm Ð Ò¥Ò9n�ü4r£¨�� n Î9öúÎ Bg = 3 � �

�_b	� h)d!k +9j �Cl�h)d �

�_n Î�Ï §»Ü9n Î9Ï §»Ü Ð
ó §PÓ Ï ü�© Î Ó o ü ö Ü9n Î ©mu3¨#§ Ï�Ð
ó Òiü o Ü9n Î ×H§	Ò õ Ô õ�õ Ó Î�öÞÐ Ò Ð ¨�× Ð ¨�Ü n Î
Ý Î9ö Ü Ð�ó §	Ó s Î Ó Î ß��Cn#§�r óUÎ Ó Ó | Ó Ó Î © r Ð Ü9n Ï §P×H¨ Î Ü Ð
ó Ó Ð"z Ô Ð © Ð Ò o ü öÞÏ Ô�Ó�§»Ü Î ©«§HÒ£§�Ò ô�Î=ó Ü ö §PÓ
ô�ö ü õ Ó Î9Ï o ü ö Ü9n Î Ó Ð ¨ Î § öiÐ ¨3Ü Î × ö üPß�© Ð � Î=öÞÎ ¨HÜ Ð §	Ó¦ü ô�Î9ö §»ÜÞü ö r Ð Ü n ô#Î=öÞÐ ü�© Ð
ó.õ ü	Ô�¨�©�§ ö u
ó ü	¨#© Ð Ü Ð üH¨�Ò=�H�_n Î ü õ Üú§ Ð ¨ Î ©iÒ ô#ÎLó Ü ö §PÓ ô�ö ü õ Ó Î9Ï Ð ÒíÒEüHÓ Ý Î © õ uBÜ n Î
��Î × Î ¨ Î9ö §»Ü Î�� §»Ü öÞÐ ß
óUÎ Ò Ï�Î Ü n�ü�©�Ò9 Zr�n Ð�ó n § öÞÎyó ü	¨#ÒÁÜ ö Ô ó Ü Î © õ u.Ô�Ò Ð ¨�× © Ð � Î9öúÎ ¨3Ü Ð §PÜ Ð ü	¨ Ï §»Ü öÞÐ�óUÎ Ò o ü ö Ü n Î
�~§P× ö §	¨�× Î«ô�ö ü ÑÁÎ=ó ÜÞü ö r Ð Ü9nR�fn Î=õ u�Ò9n Î ÝË¨�ü�© Î Ò=�+�_n Î § ó=ó Ô ö § ó uËü o ¨3Ô ÏÇÎ=öÞÐ�ó §	Ó ó §PÓ ß
ó Ô�Ó�§»Ü Ð üH¨�Ò ó §P¨ õ�Î ó ü	¨3Ü ö ü	Ó
Ó Î © Î §HÒ Ð Ó"u õ ulÝ»§ ö u Ð ¨�×�Ü n Î ü ö © Î9ö N

ü o © Ð � Î=öÞÎ ¨3Ü Ð §»Ü Ð ü	¨
Ï §PÜ öúÐ
ó9Î Ò=��� Î ÒÞÔ�Ó ÜúÒ£ü o ¨�Ô Ï�Î=öÞÐ�ó §	Ó Î;x�ô#Î=öÞÐ
Ï�Î ¨3ÜúÒ"§ öúÎ�ô�öÞÎ Ò Î ¨HÜ Î © §P¨�©«Ü n Î u ô�ö ü»Ý Î Ü n Î
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